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Sl e T M 5/3, str. 3 - 20, 38 M 5/3, str. 3 - 20, 38 190,

35 Vypotitej. 37 Vypotitej.

a h g ,_ a b g
52x10=___ 13,83 x10=__ 0,857 x10=__ 74:10=__ 356:10=__. ol 1 [T
183 x10=___ 6,07 x10=___ 6,006 x10=__ _ 18:10= 12,9:10=_ 18,34 :10= ___
05x10=__ 2472 x10=_____ 0924 x10=__ : 3:10=__ 1,8:10=__ 99:10=_
37 %x10=____ 8191 x10=__ 140711 x10=__ 109:10=___ 1023:10= 17 1
241 x10=__ 6040x10=__ 714 x10=__ 8:10= . 811,1:10=__ 2663 :10=_"_
48x10=_ 55,68 x10=___ 2,703 x10=__ 7468:10=_ 655:10=_ 1085:10=
354 x10=__ 166,56 x10=_____ 45615 x10=___ _ 61:10=_ 505,7:10=___ 42214 :10=___
66x10=___  64802x10=___ 80,888 x10=__ 446 :10=__ 530:10=__ 4572 :10= ____
400x10=___ 53336 x10=__ 64,506 x10=___ b id=___ 92:10=____ 708:10=___

1385 x10=__  201,99x10=___ 11421 x10=___ 70:10=__ 366,4:10=__ 1237 :10=__

3322 x10=____ 400,70 x10=__ 175123 x10=______ i 290:10=__ 428:10=__ 694:10=__

9408 x10=___ 660,04 x10=__ 480,007 x10=___ , 9294:10=_ 7003:10=__ 6303,97:10= ___

36 Vypotitej. ,ﬁ 38 Vypotitej.

a b g ,_ a . b g
826x100=__  32x100=___ 5037x100=__ 175:100= 115,6:100=___ 11172:100=___
1194x100=__ 68x100=___ 0587 x100=__ * 217:100= 121:100= 0,3:100= ___
309x100=__ 284x100=___  5006x100=__ 30:100= 35:100= 12,9:100= ___
4227 x100= ___ 09x100=__ 9204 x100=__ 1 4:100=__ 601,4:100=__ 6,8:100=__
1819x100=__ 46x100=__  17014x100=__ 35:100=___ 42,1:100= 441:100= ___
4060x100=__  363x100=___ 8441 x100=__ 8§932:100=___ 56,6:100=__ 6324:100=
8856 x100=__  57x100=___ _  1703x100=__ 191:100=_____ 18088:100=__ 698,8:100= _

961,22x100=__ 33x100=__  61455x100=__ 3605:100=__ 64,0:100=__ 133,9:100= ____

860,03x100=__  50,7x100=__  89909x100=__ 29708:100=__ 6110,3:100=____ 28405:100=_

366,35 x100=__  8315x100=__ 656,04 x100=__ | 4190:100= 663,5:100=__  642183:100=___

800,70 x100=___ 2336x100=___ 42111x100=__ W 35055:100=___ 249:100=__ 34,572:100 =

350,01 x100 = 4091 x100=___ 840,009x100=__ | 2994:100 = 7000,4:100 = 39 580,6: 100 =



